Feedback

[0 Please refer to ‘‘Electromagnetic Pulse and
the Radio Amateur,” Nov 1986 QST, p 33.
The radical sign in Eq 3 should extend over
the variable, SWR. In Eq 4, extend the radical
over the value, 1.5. This change alters the
final value of V, which becomes 88.32. Also,
the FCV (final clamping voltage) would then
be equal to 264.96.

This error was brought to our attention by
Sheldon C. Shallon, W6EL. Author Bodson,
W4PWF, verified the error, which exists in
the original document on pp 5-11 to 5-13.




